[SFATH] FM7EE AT

O () | (m) | Bk UTKEDE KR DR R TELGLD
a—1 [REZEPTETRK s0000 | s 12 | geowe [[REZDENERIRS gmummi | Akl #R Tk SF481.3km 11£5 (40, 80)
Fa-2 [OMLEITEeE | 218000 167| 101 | fr so |[TRE METASUE \ ymenia | ki Az, Tk <F4550m 161 (60, 200)
SFAH—-3 %gg%ﬁggiiﬂé 155,000 163 | 1:15 | fFE W2 E%ﬁﬁkbt%ﬁ@ﬁ* L5 1mmE K&, AR, FKE SF4800m 1{££ (40, 80)
SFHE—4 | ETTBH4ES 115,000 233 | 1:15 | £ W2 %ﬁé&fﬁﬁﬁéﬁﬁz FAER6m & K&, AR, TKE SF & 2km 1{££ (40, 80)
SFA—5 |ARETFHHET5042%8 148,000 325 | 1:1 £ wi i’%ﬁg%;ﬂ;ﬁfgﬁ&b EPE4.5mTE K&, AR, FTKE SFA440m 15 (60, 200)
SFA—6 |ATESEHITHSE4 74,900 175 1:1.2 | f£FFE w2 Tg%g&%?g%gﬁ TR ITmTTE K&, AR, FTKE FI ST &800m 11K (40, 80)
FE—7 Eg%ﬁnﬁ?%ﬁm 116,000 128 1:1 FE w2 ;Ji‘gii;ﬁgﬁ%ﬁﬁehé L RAmFLE K&, AR, FKE SF4A900m 1{EE (40, 80)
#5_8 (+X0=&5T B13%&7 135,000 165( 1:15 | {£F=E W2 Tg%g&%?g%gﬁ FIER6mM & KB, AR, FKE BSF A 1km 1{£E (40, 80)
SFAH-9 |ARTE2TBH10%2 92,200 200 [ 1:15 | fE=E W2 Eiﬁ%;ﬁ%g%@é“z ﬁ%‘g? K&, AR, FTKE F<FA1.4km 11K (40, 80)
SFA—10 |REFE7TH8E14 72,000 230 | 1:2 | {¥=E LS2 %iﬁfgg%ﬂ@fﬂ%b‘ FIR6mMME KiE, AR, FKE <74 2.5km 1{€5F (40, 80)
SFE—11 |7 E2TH21F75 112,000 136 1:1 FE w2 Eﬁ%;ﬁéﬁ%ﬁﬁmﬁ B R4AmTE K&, HR, TKE SEA1.4km 1{£% (40, 80)
FA—12 |AETFHE3912%2 21,600 301 [ 1.2:1 | = W2 %,ﬁg%ﬁ%igﬁ% 783.6mTE K&, TKE EISF & 700m X (60, 200)
SFA—13 ﬁ;ﬁg?&j‘(ﬁr‘mﬁ" 20600 | 166 | 1:2 | {EXE W2 ﬁi%%fﬁg&%ﬁﬁﬁﬁb JLEEemiTE KE, TKE SF43.4km FAX (60, 200)
SE—14 | REFERIBE14 117000 | 166 | 1:1 EE W2 %ﬁ%ﬁgﬂiﬁﬁ A FE6mTE K&, AR, TKE SF4 1km 1{E% (40, 80)
SFA—15 |[OHALEF2TH11%ES8 165,000 186 | 1:2 FE S2 gﬁfﬁffiﬁgﬁzﬁ Fb6mTiE K&, AR, TKE SEA1.1km 1{€5F (40, 80)
FA—16 (MIEFFEITHIES 154,000 165 1:15 | & W2 éﬁfﬁfgfﬂéﬁgﬁz@ EFESmMTIE K&, R, TKE SFA1.3km 1{E= (50, 100)
SFA—17 |hRITH12%S 229,000 175 1:15 | & W2 i?ﬁ&ﬁfiﬁ?ﬂﬁﬁ% L FEEmMTIE K&, R, TKE SFA600m 1{€E (60, 200)
FA5—1 |RETFEEI53E 145000 | 830 | 1:15 | 5% S2 %’Egg:@g%ﬁg@ﬁ ﬁ%z%?ﬁﬁf KE, TKE 4 1.1km #{E 2 (60, 200)




JE&H, BT

RBIEHORTILENRD

SFA5—2 [hR2T H16%20 255,000 243 | 1:1 %?ERI(E:JFE'E 2 ER T 2 1 RTa22mE K&, AR, FTKE SF4A130m % (80, 500) [FhX
SFH5—3 [T E2T B1152 83800 | 169 | 1:25 E%ﬁgz;fﬁézﬁ Ezﬁﬂﬁ%ﬁ%@fég%#ﬁb jt?’%%ﬁ%ﬁ' KB, HR, FAKE | HFA350m 357 (80, 200)
SFA5—4 |hR4TH12E19 263,000 203 | 1:15 | JE&H S2 E‘j ngfgg@gi% FAPE22mTiE K&, AR, FTKE SF4100m % (80, 400) [FhHX
SFE5—5 [RRATH21&34 258000 | 890 | 3:1 JE&H S3 %E%*égﬁgﬁehéﬁm: ﬁﬁgggﬁ K&, AR, FTKE <F£200m % (80, 400) FHK
SFE9—1 |#R2T H27&F 154 48,500 | 28,641 T%’Z’ BE RC4 gﬁ:?gfggt’ s ﬁ%ﬁ,ﬁf’ K&, AR, FTKE SF43.6km T (60, 200)

XA, EMAEOEERL R — A ChomERERT .




